Name: _________________________________			Date: _______________

STUDENT ACTIVITY – Hess’ Law and Enthalpy of Formation 
Answer all of the Extra Practice questions from Part D of the handout packet on Hess’ Law and Enthalpy of Formation.  Show not only the final answer but how you solved them using your manipulated equations.

             Equations                                                                                        H (kJ)


1. ______________________________________________________	_______

______________________________________________________	_______


______________________________________________________	_______





2. ______________________________________________________	_______

______________________________________________________	_______


______________________________________________________	_______





3. ______________________________________________________	_______

______________________________________________________	_______

______________________________________________________	_______


______________________________________________________	_______



             Equations                                                                                        H (kJ)


4. ______________________________________________________	_______

______________________________________________________	_______

______________________________________________________	_______


______________________________________________________	_______




Calculate the Horxn of each of the reactions from question #5 using the enthalpies provided and the heat equation:
                               ΔH°rxn = Σ [n x ΔH°f (products)] -  Σ [n x ΔH°f (reactants)]


5. a)  _________________________________________________________ = ____________kJ	

      b)  _________________________________________________________ = ____________kJ


      c)  _________________________________________________________ = ____________kJ


      d)  _________________________________________________________= ____________kJ
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Solve question #6

6.
                               


